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1. System Test
(Specification Review)
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1. System Test
(Category-partition Testing Report

T8 W aFARE #161

[2nd] Category Partitional Testing report - fail result. « 5|7
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1. System Test
(Brute Force Testing Report)

=8 U 2FANE #162

[2nd] Brute force testing report - fail result. « S | 47137 | D@ »
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. Static Analysis Test
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2. Static Analysis Test
(Bugs

A
23

[Sonargube - Bug]
http://ec2-15-164-99-14.ap-northeast-2.compute.amazonaws.com:9000/project/issues?id=SMA08&resolved=false&types=BUG

[digital-watch/src/main/java/Alarm.java] .
1) Either re-interrupt this method or rethrow the "InterruptedException” Bug 512 2%.
+ threadHlH interrupt3 ZHMAIH ZFOHOF E.
[digital-watch/src/main/java/Timer.java]
1) Either re-interrupt this method or rethrow the "InterruptedException” Bug 52 2%
+ threadHlH interrupt3 ZMAH ZTOHOE &
[digital-watch/src/main/java/SystemUI. java]
iz 2.

1) Either re-interrupt this method or rethrow the "InterruptedException™ Bug ©
+ threadHlH interruptS ZMAH ZHOF &

2) Add an end condition to this loop. Bug o2 2.
+ trueS 0| &8t 25 100p2 22 0I5H5+ =0l end conditionS FIKSH= 2101 2HS5HY G2 HIE.

cf)
1) Class CreateMode defines fields that are used only as locals. Bug.
+ privateE MEELI= Bo/AHHH H5HH 1S Bug issuelt M.
2) Unread field: ooooo Bug.
+ oS code block0| never read2 EFHE!.
3) Method oooocooooooooo accesses list or array with constant index. Bug.
+ B4&E E%t index 25 SH=0l constant indexS AMSEHID &
' false alarm@ 2 TCHGI0 S 2 S A LDGHA BHAUS.
cf2)
Z8% minorll HEEIE Bug.
» 2E=20F HHECE WeOE et E A diZ2S HDE.
cf3)

2t issuelil [H3H MR LHEE 2= PHE FRE MNE 08 2.

# 1.png (74.6 KB) (®) admin Admin, 2019/06/07 13:55



2. Static Analysis Test

brravlist<String> createlist) {

Unread field: OOOO

setDeletelist(Arravlist<String> deletelist) { E% x-” 7-I -6|-E|-E D-” A-” X| Ol
o2 M0|X| @ BES XL

deleteModeBylist();

; Modeselector 1




2. Static Analysis Test

(Bugs)

s CreateMode {

deleteModeByList{deletelist)

ModeSelector {

ArrayList<String: = Arraylist<=()

String= createlist){

.setCreatelist(createlist)

setDeletelist{Arraylist<String> deletelist)q{
setDeletelist(deletelist)

Class OO0OO defines fields that are
used only as local

CHS2ot->

private L = H-El HET} SFLEQ[ T A
EOMTE AFE KO 2| 7F ACELD EHEFSE
of ZEE AHEot= Al A E MEG =
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2. Static Analysis Test

Thread.sleepi

Thread.current Thread() . interrupt ()

(I Thread.currentThread() . isinterrupted()){

buzzd larm( )

Interrup

iverride

e.printStackTracel )

Thread.current Thread() . interrupt ()

Either re-interrupt this
method or rethrow the
“InterruptedException”

CHS2ot->

interruptedException &
M Al interruptE CHA| &2
M7Z|EF =785t0 2Rl
8% whileg= €&5t=4
L =5 RULCt



2. Static Analysis Test
(Vulnerability)

[digitzl-watch/src/main/java/CreateMode.javal
1) [Store & copy of "ocoocoocoo".] Vulnerability o2 2.
- 20l Y22 BAE £ QUCOE = . clone()E AIEE 712 AHUE.

[digitezl-watch/src/main/java/DeleteMode.javal _
1) [Steore & copy of "ocoocoocoo".] Vulnerability o2 2.
- 20l YE2 BAE £ QUCOE = . clone()E AIEE 712 AHUE.

[digital-watch/src/main/java/ModeSelector.java]l
1) [Store & copy of "oocoocoo".] Vulnerability ofZ £
» 20| 222 BAE 4 ASOZ = clone()E AISE 28 HFDEH
2) [Return a copy of "ocooooo".] Vulnerability ofZ 8%
> OEDJHA 2 20| BHEE &« ALBZ = clone()% AtE2E Zig AE



2. Static Analysis Test
(Vulnerability)

e (ArravList<String> createlist) {
createdodeby LI t{createlist) setCreatelistiArra tring> createlist){

o, setCreateL ist( st | Store a copy of “OOOO”
Return a copy of “O0O00O”

g> deletelist){
ist<String> deletelist) {

HH issue’t LI2 Hae
O=HEEA O A AKX SEALE
70| Qo2 HAZE =~ Qoo
2 clone()1 fs’ro’ncﬁ*%‘%
Soll g2 GO E4 UM HHH

get Pu1n;|xjeL ist(){ I:|-

setSettingModel isti ing> settingModel ist)q{
= (ArrayList<String>) settingModelist.clone()

clone( )




2. Static Analysis Test
(Vulnerability)

string
string(] Explicitly declare the visibility
for*O000”"

Buzzer
Toolkit

runf) 1 I-_-H % H I-O|_ |__>
TimeDB 9{4 9{4 Issue 7|— |_|-2 S| :L Xl X~ X'— prIVO'I'eE
Stringl[] 7(l 25; H E?E r




2. Static Analysis Test
(Code Smells)

[digital-watch/src/main/java/Tide.

[digital-watch/src/main,

1) Add the "@Overr annotation above this method signature 1) Rename which hides the field decl
+ @pverride annotation %7} 8%. Rename "j" which hides the field de
Rename which hides the field de
Rename "j" which hides the field de

[digital-watch/src/main/java/CreateMode.java]l - 2IHAM 010l 1, 7 B4JF SRS,
1) Add a constructor to the class, or provide default values.
> BARE ZIRIZAHLE Z2 default valueS EERIE 2. 2 8.

[digital-watch/src/main/java/TimeDB. java]
1) Missing curly brace.
[digital-watch/src/main/java/DeleteMode.java] > 7}351[]“:_&(:}5 ASHM JISEAS EZ6IE 2. 12 82,
1) Add a constructor to the class, or provide default values. 2) Rename "time" -which hides the field declared at line 18
> MARE FIBIZAHLE Z2 default value2 EERHE 21, o2 8%. s time OICFS HH27} 0101 QIHAM AIREISIS. 12 Q9.

[digital-watch/src/main va/Stopwatch.java) rdisitalew /main/ava/Ti S av.

1) Rename "times" which hides the field declared at line 15. th-hu ‘.‘atCh_{frchalnfja\. ’.Tmfr;]f“a]
- 22 0IEE N M0 EWg. §2 a%. R

2) Split this 160 characters long line (which is greater than 120 authorized). z fis Sti22 o St,at,lc‘_ QOGHE 2L 2.
5 code® 2017 HS 20 JIEAES HE £ 92, si2 8% 2) Either remove or fill this block of code. S

3) Missing curly brace. + o1 code blockE HIRAHLE Z2 IS 1. bug?l interrupt?t HAEIM A2LEZ 12 2.
S JR2E0IT (32 ARSI JISAS HERIE 2. 32 8. 3) Rename "timi" which hides the field declared at line 18.

= == Tes T = - timeOI2HE 0182 ®471 0|0] AHBRIRIS. 12 82

4) Missing curly brace.
- IR0 o E MEIM TIS4E 08 2. §i2 8.

[digital-watch/src/main va/SystemUI.java]
1) Move this "start" call to another method.
» MATH SO s B2 TR H A2 MY SHAMAM threadE EHAZ £ US. 12 82
SHIZH mainlAl ZBEIE WARQICT 2HGH HIFAE 5.
2) Add a nested comment explaining why this method is empty, throw an UnsupportedOperationException or complete the implementation.
+ Bug?| interrupt} HIZIE|E TS, 32 2.
3) Missing curly brace.
- ISH0IY (3B ASSIH JIS4S 2FGE A, i 29
4) At most one statement is allowed per line, but 2 statements were found on this line.
> JRSE0IY SHLH2 1inell= SHI2| statementZ UZE GHE 21 312 22
5) Avoid catching NullPointerException.
- WHIE nualll BLE iFE2E ASIHAN BHE 2. W2 22
0IE 512 Al AHSLZ Either log or rethrow this exception. issuel} GHZE Z2Z JIHE.



2. Static Analysis Test

(Code Smells)

s CreateMode {

CreateMode( ){

Add a constructor to the class, or provide
default values

id setCreatelist{ArrayList<String> createlist) {

createModeBylisticreatelist)
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DeleteMode( )4

setDeletelist(ArravList<String> deletelist) {

deleteModeByList (deletelist)




2. Static Analysis Test
(Code Smells)

Stopwatch(String time) {
Stringl] timeS = time.split(

= Integer.parselnt (timeS[0])
Integer.parselnt (timeS[1])
Integer. parselnt (timeS[2])

Integer.parselnt (timeS[3])

Timer{string time){
Stringl] timeS = time.split(

=Integer.parselnt (times[0])
=Integer parselnt(tineS[1])

=Integer parselnt(tines[2])

(time equals( N A

TimeDB() {

setMonthMap( )

TimeDB{String time) {
String[] timeS = time.splitf

=Integer.parselnt (times[0])
=|nteger.parselnt (time3[1])
=Integer.parselnt (tinesS[2])
=Integer . parselnt(timeS[3])
=Integer.parselnt (times[4])

setMonthMap( )

Remove this call from a
constructor to the
overridavble “O000O"
method




2. Static Analysis Test
(Code Smells)

Buzzer Thread{
Toolkit = Toolkit . getDefaultToolkit ()

.addact ionListener(
javax.swing. lmagelcon
javax. swing. JButton
Stringl] timeS = time.split Javax. owing. JFrane
javax.swing. JLabel
javax.swing. JPanel
Integer. parselnt [t | meS[ java.awt . event ActionEvent

java.awt . event  Actionlistener

l nt EE R l it [t | ITIES java,amt . event Mouseddapter
Integer.parselnt (times ) java.awt . event MouseEvent

Integer.parselnt (timeS[3])

[ 2eot> 7|EF 0§23 code smells =9




2. Static Analysis Test
(Coverage)

et E|AEH 0]A = MoonphaseTestolM HEEIi=, Aufdt #QI2 Cham Ztt.

public void calculateMoonphaze() {
try { //5tring typeZ= Date type=2F IS EHY M= W22 Bl2lH2]
t imeDB=TimeDB. get Instance() .
String currtime = timeDB.getTime();
SinpleDateFormat format = new SimpleDateFormat ( pattern: "yyyy MM dd kk mm ss"); //Strin
Date CurrentDate = format.parse(currtime); //BIAAIZHE paree() £ Zal DateH 2% HE
Date StandardDate = format.parse(stdtime); //J[FAIZHE parsel ]S Z6l DateE oz HE

[ S &> CalculateTide HAEE private XAl public2 2 M ASHIALCE.



2. Static Analysis Test
(Duplication)

Duplicated lines (%) 3.6% L 7|2k O™ HH O]

Duplicated  Duplicated

lines (%) lines
[= digital-watch/src/main/java/ModeSelector.java 15.1% 18
[2 digital-watch/src/main/java/Tide java 8.9% 45
@ digita\—watch/src/main/java/SystemUI.java 2.9% 42

CH-28HOL-> formatO| H|==3t code&& §l02{1 510 H Qe



3. OOPT Review
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